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aw material in steel making:
; (@ offthem

. coke ¢. limestone
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ngthe following is 1
olten iron

1. Which of theseisar
a, \Ton Ore
/hich amo!

ot an iron ore?

2, Hematite b. Magnetite

3. The remov a1 of sulphur is based on.one prmcxp\c:

a. 1QAMOVE the dissolved (he'slag to the m
o move the Qdissoly the iron'to the slag

.10 move the dissolve
dissolved sul

4. Limsreaets with
Call g=CaS+2C s ﬂ
e < Sainless steel 10 uence: 5 i i
% A\\\‘a\u\%\:‘:;“(i;:a‘:d y-fe 1. tendency 10 partition between o-fe and y-fe
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 in pento semoves o * otten steel in the BOF
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ain structure ina material iS cal\cq. (f?cm il
c prcc'\pna\ion hardening d. pperys
perature followe

the basicity shs
oun

round 2
€ the process, of forming & NeW o
7 solidification . sintering

A(is the Process. of heating & material 10

a specific tem

4. precipitation hardening
jened metal ©© a temperature

<. cold working (@empering
mentite(Fe3€)
amount of

o annealing
y quenched

or hard

b, empering
ess of reheating 2 P!

{ectord \emperature:
b. sotution

revious!

3 at treatment

MC alloy ot 800 °C what phase(S) 15 (ar€) present
by AusteniterPearlite

ust below the eutecto!

o) Austenit® (y)*+Ce
. determine the

d) 5.64 %, 94.36%
Josest answer): \
d)0.54

Vo Fe-0.40 W% C at & temperature §

priany ferie (o) and pea

2) 943 Y%, 5.68%

12. Foral:5
1

§121%,9279 %
amount of primary Fe3C (¢
0.054

8.8%, 512%

2
19%C alloy at 5007C what js the total
b) 0.875

C (closest answer):
.22

nount

875
1 500.°C what is the total @
d) none of them \

. 1257
i 1.5 wt %C alloy a

4 | 13.
f &—2)0.125 b)0.875 22.
| %5, the rofmement gfthe inerlamellar spacing in pearlite steelS s done by heat treatment called’s
@onnanzing c) hardening d) grain refinement \

| Fanealiog

[ 15, Therphase having the highest hardness number is:

S Fine pearlite ) Tempered martensite o) pearlite (OMtartensite \
\

| 4
.;f 16. Plate martensite IS formed in which category of stes

/@High carbon steels b. Low and medium ¢
[ ow and high carbon steels

17. Which one of the following statements. is correct?

ooling rate for formation of bainite iS greater than that for pearlite
q ) Cooling rate for formation of bainite is lower than that for pearlite
ing rate for formation of bainite is equal 10 that for pearlite
J ility of a material can be measure test.
miny. b) Charpy

19. Maraging steels arc:
h steelsawith high carbon or carbon free iron-nickel

b !gh strength steels ‘With high carbon or carbon free iron-nickel
igh strength steels with low carbon ot carbon free jron=nickel

20 7To produce Maraging steel you need:
it and aging b. ma

els?
arbon steels

. High and medium carbon steets

d using

¢) Rockwell d) 1zod

rtensite c-aging. d. annealing




21 . Mardging steels have high strength due to
¢. grain refinement

_~a. martensitic strengthening b. prccl;halign hardening
Cdymartensitic strengthening and precipitation hardening
22. Spherodizing heat treatment is used (0 T
\ pearlite into spheroids (@) Hransform cementite o spheroids
o spheroids

d) transforms martensite int
the steel to a temperature.
) above melting temperature

/,lmnsfo
_~O)transform ferrite into spheroids
2 (\Qn\ annealing of hypoeutectoid is ace
—— (a)above A3 b) above Acm
\2 74 For a material with a melting point of
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&< 490 °C
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7 4%80°C 0

3.5°C c-626.5°C
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\ 25, The treal
\ ) shirface hardening b) tempering c) annealing d) tempering
| £"56. which of the following s not a method of carburizing? \

ck-carburizing b) gas carburizing  ©) cyaniding triding |

Q2.3 Points) Phase Transformations
utéctoid composition 113

m for iron carbon alloy of b
qure and the amount of the JF

Using the isothermal transformation

\ W% C steel, determine the final mic
\ of a small specimen that has been subjected to the following Gime-temperature treatments. o each case
been held at this temperature 1ong enough time

.t 800 °C, and it has

assume that the specimen begins
homogeneous austenitic str

10 have achieved a complete and ueture.

m temperature

c., then quench o roo!
10 sec. then quench to

a- rapidly cool 10350 °C, hold for 250 se
then quench to 400.°C, hold for

b. rapidly cool to 680 °C, hold for I sec..
room temperature 2.4
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